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1. It was not until 1911 ... the first of the vitamins ... identified.
A) when ... were

B) that ... was

C) then ... were

D) when ... had been

2. The patient ... relief after he ... the medicine 2 hours before.
A) feels ... took

B) felt ... had taken

C) is feeling ... has taken

D) had felt ... took

3. “Don’t take any pain medication on the day of your procedure”, said the doctor.

A) The doctor said don’t take any pain medication on the day of my procedure.

B) The doctor told not to take any pain medication on the day of my procedure.

C) The doctor recommended that I do not take any pain medication on the day of my procedure.
D) The doctor said to me not take any pain medication on the day of my procedure.

4. Which question is correct?

A) From what the skeleton protects the organs?

B) What the skeleton protects the organs from?

C) What is the skeleton protect the organs from?
D) What does the skeleton protect the organs from?

5. Which word can the underlined adjective be replaced by?

Except for the mandible, all the skull bones of an adult form a rigid, united structure.
A) linked

B) stiff

C) solid

D) thick

6. We can identify the fontanelle ... the forehead ... newborns ... touch.
A) ...under ... on ... through

B) ... in ... within ... by

C)...on...in ... with

D) ... above ... in... by

7. Damage ... the left parietal lobe can result ... what is called "Gerstmann's Syndrome".
A)...of ...in

B) ... from ... to

C)...to...in

D)...at... of

8. Which question is grammatically correct?

A) How much bones are in the adult human skull?

B) How many are bones in the adult human skull?

C) How many bones are there in the adult human skull?
D) How many bones there are in the adult human skull?

9. Dating back to Neolithic times, a skull operation called trepanning ... sometimes ....



A) ... had been ... performed
B) ... has ... performed

C) ... was ... performed

D) ... is ... performed

10. Which question is grammatically correct?

A) How much chambers are in the human heart?

B) How many are chambers in the human heart?

C) How many chambers are there in the human heart?
D) How many chambers there are in the human heart?

11. Where are all Plural forms correct?
A) bronchi, vertebrae, serieses,

B) psychosis, foci, phenomena

C) cortices, atria, nuclei

D) mouthes, bacteria, alveoli

12. Time between infection and first appearance of products of sexual reproduction of the pathogen
A) Prepatency

B) Latency

C) Incubation period

D) Virulence

13. Decrease in susceptibility to a drug after continued use of the drug
A) Drug resistance

B) Drug response

C) Drug dependence

D) Drug tolerance

14. Paralysis affecting like parts on both sides of the body is
A) cerebral palsy

B) hemiplegia

C) diplegia

D) paraplegia

15. The percent of dose entering the systemic circulation after administration of a given dosage
form.

A) Potency

B) Bioavailability

C) Pharmacodynamics

D) Clinical pharmacology

16. Herniation of the brain through an opening in the skull is called ...
A) craniectomy

B) craniotomy

C) encephalocele

D) encephalopathy

17. Series of infections by the same pathogen
A) Reinfection

B) Transitory infection

C) Relapse



D) Bacteremia

18. Debridement is ...

A) removal of unhealthy tissue from a wound to enhance healing
B) using medical devices to close the edges of an open wound
C) joining the lips or edges of a wound by stitching

D) surgical removal of a gland

19. Pavlov ... in biomarkers of temperament types ... by Hippocrates and Galen.
A) was interested ...described

B) was interesting ... describing

C) interested ... described

D) had been interested ... described

20. There may be different types of response ... a stimulus, such as cellular or behavioral responses.
A)to

B) on

C) for

D) of

21. Balanced skin is neither oily ... dry.
A) or

B) but

C) nor

D) not

22. “The CT scan shows masses in your abdomen. It is likely they are not benign”, said my doctor
to me.

A) My doctor said to me that the CT scan shows masses in my abdomen and it is likely they are not
benign.

B) My doctor told to me that the CT scan shown masses in my abdomen and it was likely they are
not benign.

C) My doctor told me that the CT scan showed masses in my abdomen and it was likely they were
not benign.

D) My doctor told me that the CT scan had showed masses in my abdomen and it was likely they
were not benign.

23. Which statement is wrong?

A) The tongue is an immovable muscular organ in the mouth.

B) The tongue has many nerves that help detect and transmit taste signals to the brain.

C) The tongue takes part chewing and swallowing food.

D) The tongue is covered by the lingual membrane, which has special areas to detect different types
of tastes.

24. We ... for approximately ten minutes when the car stopped running; we ... of petrol.
A) had driven / ran out
B) had been driving / had run out
C) were driving / ran out
D) drove / had been running out

25. The delegate refused
A) being interviewed



B) to interview
C) having been interviewed
D) to be interviewed

26. I don't mind that I'm wrong.
A) being told

B) telling

C) to be told

D) to tell

27. You cannot use my computer you promise to be careful.
A) provided

B) unless

C) as long as

D) only if

28. Thanks, these are some of the books I lent you, but where are ones?
A) the other

B) the others

C) another

D) the another

29. He admitted that he all the money from the box.
A) took

B) was taking

C) had taken

D) had been taking

30. I knew he because his eyes were red.
A) cried

B) was crying

C) had cried

D) had been crying

31. It's beautiful! Thanks, but you anything for me. (Choose TWO correct options)
A) needn't have bought

B) needn't buy

C) mustn't have bought

D) shouldn't have bought

32. You see a specialist to check that knee. (Choose TWO correct options)
A) need

B) ought to

C) should have

D) 'd better

33. Internet access has been growing exponentially across the country. , growth in rural
areas is much slower.

A) However

B) Even though

C) Although

D) Despite



34. I'm not patient and I didn't wait for them. If [ was more patient, I for them.
A) would wait

B) would have waited

C) waited

D) had waited

35. You don't like the essay topic we chose, do you? Would you rather we a different topic?
A)would chose

B) would have chosen

C) had chosen

D) chose



